Efficiency studies
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Standard measurement during the preparation

Cl4MeV —

Actx ATx (1-DT)x BR

~2% uncertainties

€l4Mev — GGEANT4

E.Clément



¥YAN
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Standard measurement during the preparation

CNRS/IN2P3

NV

ClaMeV

Act x(ATx (1-DT)x BR

AGATA i1s not in common dead time.
Each crystal is +/- 1n trigger less
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%0Co run example

Core Id CoreHistory Narval Stop
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The writing on disk is asynchronous and the last buffer of each crystal is lost at the stop which
takes ~2 sec. Go back to traces at least or cut in the ACQ Time
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Standard measurement during the preparation |~ ﬁi"iii

NV

ClaMeV

Act x ATx (1{DT)x BR

We usually correct for possible dead time using the GANIL electronic which has a much higher
dead time and which can be quantified by running with the AGAVA triggered by the OrAGATA

in ancillary.sh
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25

At low rate, the GTP or
only the Root node has not
effect on the measured
efficiency
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€l14MeV — CGEANT4

In nominal : Crystal A-type = 0.106% = 86%
Crystal B-type =0.117 % = 87%
Crystal C-type= 0.106 % = 85.8%

*»The absolute efficiency is not a CAT criteria
s¢It is given in the CANBERRA technical sheet for each capsule delivered
¢ It is cross checked only in 30% of the CAT according to the reports. They often differ.
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The 35 capsules in 2017 C —
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GEA NT4 will overestimate the efficiency
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Canberra
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€14Mev — CGEANT4 > ©GEANT4 cor

Run 78 E706 (2017) 35 crystal in nominal
(no trace, no histo, no PSA, ancillary.sh)

Csingle @1.4 MeV = 3.4(1)%

Esingle G4 —3.8%

Csingle G4c =3.6%
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120,00% =

100,00%
80,00%
60,00%
40,00%
20,00%
0,00% =
234561738
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Accidental GANIL black-out
All connections closed, reshuffle of the /agatadisks
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The in-beam efficiency 1s hard to estimate because the reaction
G 1s not known

Extrapolation from radioactive sources has no sense:
Multiplicity effect if nominal = compact

Pile-up effects in FEBEE
Unexpected/uncontrolled effects

E.Clément



Status Report e661 (juin 2016) Spectroscopy of W \ ‘ J ‘1 ]
fission fragments (32 capsules) in compact m Jes ::MZ;
02/02/20 1 7 laboratoire commun CEA/DSM CNRS/IN2P3
A. Lemasson et M. Rejmund S —

The gamma efficiency from yy coincidence in [low activity >?Eu]
using 344 keV - 778 keV, gated from above, is at 344 keV ~ 10.4 %
A 1.4 MeV, F=1.5

Experimental data :

(Doppler corrected and isotopically identified '90Zr),

the gamma efficiency from the yy coincidence 352 keV — 497 keV, gated from above, is at 352
keV ~ 5.6%.

A 1.7 MeV F=1
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(cheap) fission source in GEANT4 + exact geometry
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(cheap) fission source in GEANT4 + exact geometry

laboratoire commun CEA/DSM

Table 11: Summary

Energy |MeV| Config Single  OFT (F) MGT (F)
1.1 Nominal Mono Energy at Rest 4.4 6.1 (1.38) 6.2 (1.4)
1.1 Compact Mono Energy at Rest 8.1 11.3(1.40)  11.4 (1.4)
1.1 Compact °Co at Rest 7.7 10.6 (1.37) 10, (1.33)
1.1 Compact Fission at Rest 7.5 9.6 (1.28) 8.1 (1.08)
1.1 Nominal Fission at Rest 4.2 5.7 (1.35) 5.1 (1.21)
1.1 Compact Mono Energy 3-0.1 7.3 10.1 (1.38)  10.1 (1.38)
1.1 Compact Fission 3-0.1 6.5 8.7(1.26) 7.4(1.07)
1.1 Compact Fission 0.1 by v —~ 6.1

There 1s an obvious loss in compact configuration due to the multiplicity

E 7.7% > 6.5%
F 1.37 ©1.26
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- 20% loss
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rate [kHz]

F. Recchia et al. LNL report



Back in 2016, we noticed a loss in validation for the GGP channels
later explained by a too short TIMEOUT at the GTS block level with
respect to the general latency of the GTS system at this load

Corrected since March 2017

laboratoire commun CEA/DSM ﬂ' ‘ CNRS/IN2P3
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03Cc @ going 26.0 K Sok/s .., 03c @ going M
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High rate effect
2017 GANIL MBq %Co source (32 crystals) ATCA + GGP

GTS limitation to be understood
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All these effects participate to losses in the in-beam efficiency laboratouecommuncwosmj v / CNRS/N2P3
AGATA crystals are not in common dead time.
As a consequence BOTH the total projection AND the yy are affected
‘ Including these losses in the G4 reading
Table 11: Summary
Energy |MeV| Config Single  OFT (I) MGT ()
1. Nominal Mono Energy at Rest 4.4 6.1 (1.38) 6.2 (1.4)
Compact Mono Energy at Rest 8.1 11.3(1.40)  11.4 (1.4)

Compact °Co at Rest
Compact Fission at Rest
Nominal Fission at Rest

Compact Mono Energy 3-0.1

106 (1.37)  10. (1.33)
9.6 (1.28) 8.1 (1.08)
5.7 (1.35) 5.1 (1.21)
10.1 (1.38)  10.1 (1.38)
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Compact Fission 3-0.1 : 8.7 (1.26) 7.4 (1.07)
Compact Fission 8—0.1 by v —~ 6.1
Compact Fission FEBEE £-0.1 1.0
Compact Fission  FEBEE 8-0.1 by v —~ 3.5

54% losses between low activity source and in-flight fission source at high multiplicity and high
counting rate

Addback Factor 1.38 = 0.94

E661 2 46% measured losses, F ~1
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Inappropriate RiseT vs AddBack factor —] j‘ .
IaboratoirecommunCEA/DSMk ' /CNRS/IN2P3
AddBackEnergy
_ {:} ﬁ AddBackEne
— Entries 1.8686
108 =8°Co + 4K (bkg) + 208Bi (bkg) {:} single g&eg
—10 us risetime AddBack

3t

N

S8

AddB_factor (1.1 MeV) = 1.3265(5)

102 L AddB_factor (1.3 MeV) = 1.3415(6)

AddB_factor (1.4 MeV) =1.370(2)
AddB_factor (2.6 MeV) = 1.469(7)
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To make it easy : only core (EOQ) energies are considered. No Tracking but a simple
AddBack procedure using neighboring cores AddB_factor = Int(AddB)/Int(Single)
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AGATA crystals are not in common dead time = A\ HXJS. il
laboratoire commun CEA/DSM -

AGAVA §0Co MBgq

AGATA
Ancillary.sh { 100 Hz AGAVA }
Coincidence 2.2 us

100Hz Pulser
Ancillary.sh >50kHz/core
Mult gamma>=1

10 ps RiseT Pile up will reject 60% of the requests

70
60 AddB_factor (1.1 MeV) = 1.02(5)
50 AddB_factor (1.3 MeV) = 1.05(5)
40
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Survey of fission runs (= A é ,‘\ | |
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CNRS/IN2P3

//E680 — Fission run with [20-24] cores in compact configuration (-88.5 mm)
Rate was~36kHz/core RiseT =5us => 25% rejection expected

No GGP, No losses in the GTP from elog entries run 184,173

107 2> €(351.9 keV) from yy ,Tracked = 6.09(8)% Addback = 6.0(1) %
High multiplicity G4 says OFT=7.7% and AddB 8.1% =

//E669— Fission run with [21-24] cores in intermediate configuration (-52mm)
Rate was ~20kHz/core, RiseT =5us => 15% losses rejection expected

No GGP, No losses in the GTP from elog entries run 208, 193

86Se 2 £(868 keV) from yy, Tracked = 4.5%

4 y—rays cascade G4 says OFT=5.2% —>

//E661 — Fission run with 32 cores in compact (-100 mm)
Losses

//E706 — Fission run with 35 cores in nominal
Rate was 20kHz/core RistT = Sus =>15% losses rejection expected
GGP; measured losses are 11% from elog run126 (in agreement with the measurement in source)
1007 2> £(351.9 keV) from yy ,Tracked = 5.8(6)%
High multiplicity G4 says OFT = 7.1% , Pile-up included => 6%, GTP included => 5.4%
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CNRS/IN2P3

v’ Source efficiency can be affected by hardware status

v'The efficiency measurement during the CAT should be a standard measurement if we want to
understand our experimental efficiencies.

v'The G4 geometry must take this into account

In-beam with high rate

v'Brut force efficiency vs multiplicity effect should be look carefully in the choice of the
nominal vs compact configuration

v'Pile-up rejection matters

v'The GGP time out has been corrected

v'Some GTS limitations at high load deserve more studies

There are additional backpressure effects when GGP are added to the ATCA for a validation rate

> 1.5 kHz/core that need further investigations
—> This do not affect yet the in-beam/source data where run at ~200-300 Hz/core validation rate

E.Clément
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Aurora: CHANNEL UP Input: RUN

input trigger
input idle

sort trigger
sort idle

sumbus trigger
sumbus idle
sumbus under min
transition

threshold not reached
threshold reached

sumbus trigger
sumbus 1idle
sumbus under min

transition

threshold not reached
threshold reached

100% GTS validation

60Co source with 1.5 kHz/Core

E.Clément

Everybody in GO and DrainON - ValidateALL

t=100 k=0.9

event number

output reject
output validate

gate reject

gate validate

threshold equal

gate reject

gate validate

threshold equal

00A @

going

008 @

going

ooc @

going

01A @

GOING

018 @

GOING

oic @

GOING

02A @

going

028 @

going

02c @

going

Skis .|

032 @

going

Skis .|

03 @

going

Skis ..

oc @

going

Sk/s ..

04A @

going

Sk/s ..

048 @

going

Skis .|

04c @

going

Skis .|

0sA @

going

Skis .|

058 @

GOING

Skis .|

0sC @

GOING

Skis .|

098 @

going

Skis .|

ooc @

GOING

Skis ..

100 @

going

Sk/s ..

108 @

going

Sk/s ..

10C @

going

Skis .|

11A @

GOING

Skis .|

118 @

GOING

Skis .|

11c @

GOING

Skis .|

12A @

going

Skis .|

128 @
12 @
13A @
138 @
13C @
14A @

going
going
going
going
going
going

Skis .|
Skis ..
Sk/s ..
Sk/s ..
Skis .|
Skis .|

148 @

GOING

Skis .|

14c @

GOING

|

Skis .|




CHANNEL UP

Aurora:
clock

input trigger
input idle

sort trigger
sort idle

sumbus trigger
sumbus idle
sumbus under min
transition

threshold not reached
threshold reached

sumbus trigger
sumbus idle
sumbus under min
transition

threshold not reached
threshold reached

Everybody in GO and 3 ATCA Drain OFF —
femul readout with cdat — bdat-No PSA — adf -
histo

UL

15.924.048.

1.129.547.

-- 8.939.
. 627.166.

... 8.837.
615.233.

Sort: RUN

699.

.448.
723.

387.
088.

116.
016.

.537.

115 100.00

39.75
7.09

39.75
3.95

39.41
3.89
0.00

30.26

0.00
39.41

E.Clément

t=100 k=0.9

event number ..

output reject ..
output validate ..

gate reject .

gate validate ..

threshold equal

gate reject ..
gate validate ..

threshold equal

100% GTS validation

: A

-245.444
-871.008

-537.999

_ 1.3k Skis
Crystal Status & Control | Options | Long Traces | Expert Control | Trigger | HW monitor | Log |
(™ Reset | I~ Drain CcMCL cMc2 CMC3 cMc4 CMC5 CMCE CMC7
LOS(1-6) 000000 000000 000000 000000 000000 000000 000000
2 setUp BPress [ ] [ ] [ ] [ ] [ ] [ ] [ ]
Go Rate 1/s 1266 1266 1266 1265 1265 1265 1265
Carr. rate [ 4.8 MB/s ] [ 6.4 MB/s (3.5 %) ]
W stop
oy N - .
Crystal Status & Control | Options | Long Traces | Expert Control | Trigger | HW monitor | Log |
(™ Reset | I~ Drain CcMCL CcMCc2 CMC3 CcMC4 CMC5 CMCE CMC7
LOS(1-6) 000000 000000 000000 000000 000000 000000 000000
2 setUp BPress [ ] [ ] [ ] [ ] [ ] [ ] [ ]
Go Rate 1/s 1177 1177 1177 1171 JINIRA) 1171 SINIRA)
- Carr. rate [ 4.5 MB/s ] [ 5.9 MB/s (3.2 %) ]
W stop
@ o N R R - [

Crystal Status & Control | Options | Long Traces | Expert Control | Trigger | HW monitor | Log |

(’Feset I_Draln cMC1 cMCc2 cMmC3 CcMC4 CMCS CMC6 cMmC7
: © LOS(1-6) 000000 000000 000000 000000 000000 000000 000000
2 setup BPress [ ] (] [ ] (] [ ] (] [ ]
P Go Rate 1/s 1162 1162 1162 1180 1180 1180 1180
Carr. rate [ 4.4 MB/s ] [ 6.0 MB/s (3.2 %) ]
W stop
01A @ GOING Skis ..
0l1C @  GOING Skis ..
02¢ @ going Skis ../

03B @ going
03c @ going
04A @ going
048 @ going
oic @ going
0SA @ going

w
i
@

ol
s

«
=

058 @  GOING 5k/s
0sc @  GOING

0% @ going ki
09C @  GOING 5K/

ulw ol o
2 x|z z
a|a|@|a|a|a|a|a|a

«
=
@

10A @ going

vl

Elie

1ne 4 T ]

.481.995
.245.444
.871.008
laboratoire commun CEA/DSM CNRS/IN2P3
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Everybody in GO and 1 GGP Drain OFF, All ATCA drain ON —femul readout wyth
bdat-No PSA —

adf -histo

00A @ going
008 @ going
ooc @ going [
0l1A @  GOING

Crystal Status & Control

(™ Reset I -
Go SetUpI

m2c | | |

Options | Long Traces | Expert Control | Trigger | HW monitor | Log |

CMC1 cMC2 CMC3 CcMC4 CMCS CMC6 CMC7
LOS(1-6) 000000 0OOO0OOO0 0O0OOOOO0 OOOOOO OOOOOO OOOOOO O00OO0O0O
BPress @ ° ° ° ° ° °
Rate 1/s 1237 1237 1237 1237 1237 1237 1237
arr. rate [ 8.7 MB/s ] [ 8.7 MB/s (4.7 %) |

Gol c

0ic @ GOING Skis ...
02A @ going [ Skis
028 @ going [ Skis
02¢c @ going 5k/s
03A @ going 0 p 0 R
038 @ going [
03c @ going [ - -
04A @ going . : 3
048 @ going [ . ': 0_8
o4c @ going [
0sA @ going [ 0 g 9
0s8 @ GOING [ - .
05C @  GOING ' __
098 @ going b ==
09C @ GOING [ b d
10A @ going [ 0 9
108 @ going [

old no d
10c @ going | old d
11A @ GOING [
118 @ GOING [ b g
11C @  GOING g : .
124 @ going . . :
128 @ going
12c @ going old no d
13A @ going old d
138 @ going
13¢ @ going
14A @ going
14B . GOING
14C Q GOING

w
i
@

cda

1]

laboratoire commun CEA/DSM CNRS/IN2P3

All channel have losses !!! GGP and ATCA

Less than Sum CFD (39 kHz) => Missing
request to the Trigger Input



Everybody in GO and 1 GGP Drain OFF, 1 ATCA drain OFF —femul readout with ‘Tdad— '
bdat-No PSA — adf -histo L:U \

P Tl —

CNRS/IN2P3

>

N N — ||| .

Crystal Status & Control | Options | Long Traces ] Expert Control I Trigger | HW monitor | Log[

(™ Reset | I~ Drain CMC1 CcMCc2 CcMC3 cMca CMC5 CMC6 CMC7 e
LOS(1-6) 000000 000000 000000 000000 000000 000000 000000
2 setUp BPress ) ) ) ) ) ) )
Go Rate 1/s 1088 1088 1088 1083 1083 1083 1083
Carr. rate | 4.1 MBJs ] [ 5.5 MBJs (3.0 %) |

B stop

e T ——— Same losses has before
@ cons | T A R N - |

Crystal Status & Control | Options | Long Traces ] Expert Control | Trigger | HW monitor | Log ]

(™ Reset | - iBrain! cMcl cMc2 cMe3 cMca cMcs cMCE cMe7
"""" “ LOS(1-6) 000000 000000 000000 0OOO0OOO0 000000 000000 000000
< setUp BPress ) ) ) ) ) ) )
Go Rate 1/s 1305 1305 1305 1305 1305 1305 1305
Carr. rate [ 9.2 MB/s ] [ 9.2 MB/s (5.0 %) |

B stop

018 @ GOING
oic @ GOING
02A @ going
028 @ going
02c @ going
03A @ going
03B @ going
03c @ going
04A @ going
048 @ going
oiac @ going
0sA @ going
0SB . GOING
0sC @ GOING
098 @ going
osc @ GOING
10A @ going
108 @ going
10c @ going
11A @ GOING
118 @ GOING
LG . GOING
12A @ going
128 @ going

12c@ going | I N N R

E.Clément



Everybody in GO and All channel drain OFF —femul readout with cdat ~ bdat—}kiﬁSA]L

-histo

No rejection when All ATCA are drain off and all GGP drain ON

A ‘l 4

laboratoire commun CEA/DSM CNRS/IN2P3

as soon as there 1s at least 1 GGP, we have losses in the GTS when rate > 1kHz validation

are not reaching the TP (CFD = 39 kHz)

Same result in exclude Trigger Processor.

Aurora: CHANNEL UP Input: RUN Sort: RUN t=100 k=0.9 V5

........ - .629.739.702 event number .............

input trigger ............. - -715. output reject .....cceeiennnnn.

input idle ......... - - .072. output validate .............

sort trigger ............. - .654.

sort idle ........... 28. .665.

sumbus trigger ............. - .315.2
sumbus idle . - -160.
sumbus under min . - - - gate reject ..

transition ............. gate validate .............

threshold not reached .......cccimiminananna.
threshold reached .............

threshold equal .............

sumbus trigger .........cccciicicaiannan

sumbus idle .

sumbus under min ... .. ... - P s o e e e e e Tt

I R gate validate ..........cocninnnnnnnnnn

threshold not reached .

threshold reached ........cccccccnccanna..

GO 0L coccoooncooonoononoonoone

00A @ going
008 @ going
ooc @ going
0l1A @ GOING
018 @ GOING
oic @ GOING
02A @ going
028 @ going
02c @ going
03A @ going
038 @ going
03c @ going
04A @ going
048 @ going
o4c @ going
05A @ going
058 @ GOING
0sC @ GOING
098 @ going
0sc @ GOING
104 @ going
108 @ going
10c @ going
114 O GOING
118 @ GOING
11C @ GOING
124 @ going
128 @ going

12c @
13A @
138 @
13¢ @

E

going
going
going
going

144 @ going
148 @ GOING
14C @ GOING
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File Edit View

Aurora: CHANNEL UP

input trigger ..
input idle ..

sort trigger ..
sort idle ..

sumbus idle ..
sumbus under min
transition ..

threshold not reached ..
threshold reached ..

sumbus trigger ..

sumbus idle
sumbus under min
transition

threshold not reached ..
threshold reached ..

resync: dom 0 sub 20 (brd 1 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 4 (brd 0 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 31 (brd 2 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 21 (brd 1 adc
resync: dom 0 sub 14 (brd T adc
resync: dom 0 sub 25 (brd 2 adc
resync: dom 0 sub 14 (brd 1 adc
resync: dom 0 sub 14 (brd 1 adc
resync: dom 0 sub 14 (brd 1 adc
resync: dom 0 sub 14 (brd 1 adc
resync: dom 0 sub 14 (brd 1 adc
resync: dom 0 sub 14 (brd 1 adc
resync: dom 0 sub 14 (brd 1 adc
resync: dom 0 sub 14 (brd 1 adc
resync: dom 0 sub 14 (brd 1 adc
resync: dom 0 sub 14 (brd 1 adc
resync: dom 0 sub 25 (brd 2 adc
resync: dom 0 sub 11 (brd 0 adc
resync: dom 0 sub 25 (brd 2 adc
resync: dom 0 sub 25 (brd 2 adc
resync: dom 0 sub 14 (brd 1 adc

Search Terminal Help

Input: RUN
16.355.813.636.022

-..- 9.009.273.594
- 1.167.484.838.811

sumbus trigger -............

--- 9.009.212.238
. 643.687.739.365

Terminal

Sort: RUN

N
@
o

PN
-
S

ExX EX

8.906.470.321 2.40 K

- 631.664.115.619 4.10 M
0 0.00

2.09 K

er_carrier

1)
1)

1)
1)
1)
1)
3)
1)
1)
1)
1)
1)
2)
1)
1)
1)

comre NO

oo
=
=

gate reject .
gate validate .

gate reject .
00 gate validate

event number

t=100 k=0.9

output reject .
output validate .

40 K threshold equal .

threshold equal

s
-214.

BT
.214.

.474.

862
459

862
459

No

oo

02

.40 K

.09 K

00

.00

.00

2% cgui
254789 s
271648 s
14234 s
9109 s
43957 s
77699 s
670892 s
50293 s
43171 s
48622 s
12728 s
69362 s
1076428 s
62725 s
38719 s
37126 s
resync: dom 0
945 s resync: dom 0
3048 s resync: dom 0
2612 s resync: dom 0
58 s resync: dom 0
954 s resync: dom 0
1472 s resync: dom 0
116 s resync: dom 0
474 s resync: dom 0
373 s resync: dom 0
686 s resync: dom 0
928 s resync: dom 0
1033 s resync: dom 0
6628 s resync: dom 0
15039 s resync: dom 0
5715 s resync: dom 0
623 s resync: dom 0
7241 s resync: dom 0

[CRTET IV IT RV VTRV AT RV SV T RV T T RV

(brd
(brd
(brd
(brd
(brd
(brd
(brd
(brd
(brd
(brd
(brd
(brd
(brd
(brd
(brd
(brd
(brd
(brd

coocococococoococoococooooo

3)

3)
3)
3)
3)
3)
3)
3)
3)
3)
3)
3)
E)]
3)
3)
3)
3)

[P R 7 R R S R R Y Y Y S R )

resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:

Global Status & Control
[ ] going

IV Show Validations

T A N I B 0

Crystals Status & Control ] Options | Long Traces | Expert Control

IV Show Rejections

" average " average

& total ¢ total

3 Scale

€ maximum

' maximum

€ minimum

€ minimum

Per Crystal Status & Control

008 @ going [ B

OOA [ ] going 1000/5
B

1000/s

o
w

ooc @ going

1000/s

)
N

1000/s

~
i

018 @ GOING

1000/s

|

1000/s

[
©

1000/s

02A @ going
02B

l
Q
o
=l
@

1000/s

02c @ going

1000/s

032 @ going

1000/s

038 @ going

1000/s

03c @ going 60

1000/s

o
&
>
o
=l

[ ] going

1000/s

)
N

048 @ going

1000/s

@
(=}

oiac @ going

1000/s

)
©

0sA @ going

1000/s
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12c @ going
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(&) Terminal 0006
File Edit c

Terminal Help
Global Status & Control

Aurora: CHAWEL P Input: RUN Sort: RUN 100 k0.9 VS h el ng [ okis) [

clock ........ 16.319.611.024.925 100.00 U event nusber .858.689  7.46 K Crystals Status & Control | Options | Long Traces | Expert Control ~ View |
input trigger . -- 9.007.343.688  9.42 K output reject .. -255.560  1.76 ¥ Show Validations ¥ Show Rejections v Show Missing
input idle . = - - .146 8.86 M output validate ... .287.579 9.39 K
e T e ... 9.007.282.333 9.42 K " average " average " average
sort idle . - -305.685.320  3.81 M & total & total & total
) 1.0 3 Scale ) )
sumbus trigger . ... 8.904.543.139 9.39 K ¢ maximum ¢ maximum € maximum
sumbus idle 3.80 M L - =11
susbus under min 0.00 gate reject ... .255.560  1.76 ¢ minimum ¢ minimum £ minimum
transition . 7.46 K gate validate ... .287.579 9.39 K
threshold not reached . 0.00
threshold reached . 9.39 K threshold equal ............. 7.982.914.693 7.46 K
sumbus trigger . 0.00
sumbus idle 3.81 M 00A @ going 1000/s
sumbus under min 0.00 gate reject ... ... 0 0.00
transition . 0.00 gate validate ... 0 0.00 os @ going . TTESE 1000/s

" 0@ g [ T EH 10005s
e 0 oo (@ cone [ ]
01B Q GOING 1000/s .

=

threshold not reached
threshold reached .

[oic@ conc [ [
= 10§ to r 3 p ; 6§ car

resync: dom sub 14 brd adc 4) 24 resync: dom sub (brd adc 3) 5321 resync:
going 1000/s .

-
'

147 @ going I 54 1000/s .
148 @ GOING [ 1Py 1000/s .
(14c®@ ocone [ T T EN | 10005 .|

resync: dom 0 sub 20 (brd 1 adc 1) 254789 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 271648 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 14234 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 9109 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 43957 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 77699 s resync:
resync: dom 0 sub 4 (brd 0 adc 3) 670892 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 50293 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 43171 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 48622 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 12728 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 69362 s resync:
resync: dom 0 sub 31 (brd 2 adc 2) 1076428 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 62725 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 38719 s resync: 0sA @ going
resync: dom 0 sub 21 (brd 1 adc 1) 37126 s resync: -
resync: 058 @  GOING

resync: dom 0 sub 5 (brd 0 adc 3) 734 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 945 s resync: dom 0 sub 5 (brd 0 adc 3) 2167 s resync:
resync: dom 0 sub 25 (brd 2 adc 5) 3048 s resync: dom 0 sub 5 (brd 0 adc 3) 612 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 2612 s resync: dom 0 sub 5 (brd 0 adc 3) 79 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 58 s resync: dom 0 sub 5 (brd 0 adc 3) 2373 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 954 s resync: dom 0 sub 5 (brd 0 adc 3) 426 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 1472 s resync: dom 0 sub 5 (brd 0 adc 3) 520 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 116 s resync: dom 0 sub 5 (brd 0 adc 3) 1422 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 474 s resync: dom 0 sub 5 (brd 0 adc 3) 2004 s resync: g
resync: dom 0 sub 14 (brd 1 adc 4) 373 s resync: dom 0 sub 5 (brd 0 adc 3) 131 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 686 s resync: dom 0 sub 5 (brd 0 adc 3) 1886 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 928 s resync: dom 0 sub 5 (brd 0 adc 3) 10 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 1033 s resync: dom 0 sub 5 (brd 0 adc 3) 89 s resync:
resync: dom 0 sub 25 (brd 2 adc 5) 6628 s resync: dom 0 sub 5 (brd 0 adc 3) 269 s resync:
resync: dom 0 sub 11 (brd 0 adc 0) 15039 s resync: dom 0 sub 5 (brd 0 adc 3) 7645 s resync: m—
resync: dom 0 sub 25 (brd 2 adc 5) 5715 s resync: dom 0 sub 5 (brd 0 adc 3) 4198 s resync:
resync: dom 0 sub 25 (brd 2 adc 5) 623 s resync: dom 0 sub 5 (brd 0 adc 3) 653 s resync: )

0 ( 1 H 0 5 0 H

femul-cdat-bdat-NoPSA- Histo-300Hz

E.Clémen




carrier LSC GUI

File Edit Terminal Help

Global Status & Control

CRRET e — | e

Crystals Status & Control | Options | Long Traces | Expert Control —View |

CHANNEL UP Sort: RUN t=100 k=0.9

Aurora: Input: RUN

........ 16.296.381.688.507 100. event number ............. 4.038.737.292

---. 9.004.688.911

B 1.255.191
1.162.217.156.981 8.87

input trigger . b
. 8.900.644.625 19.34 K

input idle

output reject ..
output validate .

¥ Show Validations ¥ Show Rejections v Show Missing

=x

¢ average ¢ average " average

sort trigper ............. 627.564
TGVl L, 641.414.100.537 = & total & total ¢ total

1.0 3 Scale 1.0 3 Scale

1.0 5 Scale

sumbus trigger .. 8.901.899.816 19.34 K € maximum € maximum € maximum
sumbus 1idle . 629.396.165.876 3.84 1
sumbus under min . .0 0.00 gate reject 1.255.191  2.92 € minimum € minimum € minimum
transition . 15.47 K gate validate .900.644.625 19.34 K

threshold not reached
threshold reached .

19:34 K threshold equal ............. 7.980.793.296 15.47 K

sumbus trigger 0.
sumbus idle . 644.391.785.473  3.87 Ul

sumbus under min . .0  0.00 gate reject .. 0 0.00
transition . .0 0.00 gate validate .. 0 0.00

threshold not reached
threshold reached

oo

00 threshold equal ...............ooii.a... 0 0.00

resync: dom 0 sub 20 (brd 1 adc 1) 254789 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 271648 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 14234 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 9109 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 43957 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 77699 s resync:
resync: dom 0 sub 4 (brd 0 adc 3) 670892 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 50293 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 43171 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 48622 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 12728 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 69362 s resync:
resync: dom 0 sub 31 (brd 2 adc 2) 1076428 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 62725 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 38719 s resync:
resync: dom 0 sub 21 (brd 1 adc 1) 37126 s il resync:
resync:

resync: dom 0 sub 5 (brd 0 adc 3) 734 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 945 s resync: dom 0 sub 5 (brd 0 adc 3) 2167 s resync:
resync: dom 0 sub 25 (brd 2 adc 5) 3048 s resync: dom 0 sub 5 (brd 0 adc 3) 612 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 2612 s resync: dom 0 sub 5 (brd 0 adc 3) 79 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 58 s resync: dom 0 sub 5 (brd 0 adc 3) 2373 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 954 s resync: dom 0 sub 5 (brd 0 adc3) 426 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 1472 s resync: dom 0 sub 5 (brd 0 adc 3) 520 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 116 s resync: dom 0 sub 5 (brd 0 adc 3) 1422 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 474 s resync: dom 0 sub 5 (brd 0 adc 3) 2004 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 373 s resync: dom 0 sub 5 (brd 0 ade3) 131 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 686 s resync: dom 0 sub 5 (brd 0 adc 3) 1886 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 928 s resync: dom 0 sub 5 (brd 0 adc 3) 10 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 1033 s resync: dom 0 sub 5 (brd 0 adc 3) 89 s resync:
resync: dom 0 sub 25 (brd 2 adc 5) 6628 s resync: dom 0 sub 5 (brd 0 adc 3) 269 s resync: :
resync: dom 0 sub 11 (brd 0 adc 0) 15039 s resync: dom 0 sub 5 (brd 0 adc 3) 7645 s resync: [1ic® osove [ ] [ |
resync: dom 0 sub 25 (brd 2 adc 5) 5715 s resync: dom 0 sub 5 (brd 0 adc 3) 4198 s resync: [ .
resync: dom 0 sub 25 (brd 2 adc 5) 623 s resync: dom 0 sub 5 (brd 0 adc 3) 653 s resync: ,1 k
resync: dom 0 sub 14 (brd 1 adc 4) 7241 s resync: dom 0 sub 5 (brd 0 adc 3) 5321 s ) e [ —

femul-cdat-bdat-NoPSA- Histo-1KHz
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(G]

File

[ scgw3 ][ 0§ topology

Edit View

Aurora: CHANNEL UP

input trigger
input idle

sort trigger
sort idle

sumbus trigger
sumbus idle
sumbus under min
transition

threshold not reached
threshold reached

sumbus trigger
sumbus idle
sumbus under min
transition

threshold not reached
threshold reached

Search Terminal

Input:

1$ server_carrier

Help

RUN Sort:

16.706.763.706.169

. 9.073.545.464
.198.619.475.237

- 9.073.484.007
. 657.350.787.644

. 8.970.279.085
. 645.241.743.099

0
- 8.033.517.245

2§ cgui

RUN

100.

3-§ carrier_setup

t=100 k=
event number

output reject

output validate .

gate reject
gate validate

threshold equal

gate reject
gate validate

threshold equal

4% midas_digitizers

(5*$TriggerProc)

4.091.461.241

- 1.265.537
.969.013.548

... 1.265.537
8.969.013.548

8.033.517.245

6$ carrier_h

n

wwwwwwmw%w
o |a|@ G| |a @ | @

=

wuwan

wuwnn

wumuuuunuan

n

wuwn

wuuwunuan

s
s

femul-cdat-bdat-NoPSA- Histo-1.5KHz
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Global Status & Control

L] going (| I

Crystals Status & Control | Options | LongTraces | Expert Control | View |

Go B stop |~ Drain

oo 1 [ eIy

Load Confl 2 setUp | (™ Reset |

Per Crystal Status & Control

@

z

Fy

@

=

z

00A @ going
008 @ going
ooc @ going
0l1A @ GOING
018 @ GOING
oic @ GOING
02A @ going
028 @ going
02c @ going
03A @ going
038 @ going
03c @ going
04A @ going
048 @ going
oac @ going
05A @ going
0S8 @ GOING
0sC @ GOING
098 @ going
osc @ GOING
100 @ going
108 @ going
10c @ going
1A @ GOING |
118 @ GOING [
11c @ GOING [
12A @ going
128 @ going
12c @ going
13A @ going
138 @ going
13¢ @ going
140 @ going
148 @ GOING
14c @ GOING

CNRS/IN2P3



@1.5 kHz/core
Ratio Trigger Input / Sum CFD

120,00%

24 ATCA
100,00% @ \
80,00% + GGP

60,00%

40,00%

20,00%

0,00% T T T T T T T 1

#Channel Drain OFF

E.Clément



~100 kHz/core, validateAll,

Input TP/ Sum CFD cgui

120%

Adding A

TCA

o \\\
80%

20 ATCA

60% -

Removing (
40%

HGP

Removing

Adding GGP

7 GGP ATCA

20%

0%

0 5 10 15

E.Clément
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laboratoire commun CEA/DSMj ‘ /

CNRS/IN2P3

Keeping 1.5 kHz/core, changing the femul ouput

E.Clément



(G]

File

[ scgw3 ][ 0§ topology

Edit View

Aurora: CHANNEL UP

input trigger
input idle

sort trigger
sort idle

sumbus trigger
sumbus idle
sumbus under min
transition

threshold not reached
threshold reached

sumbus trigger
sumbus idle
sumbus under min
transition

threshold not reached
threshold reached

Search Terminal

Input:

1$ server_carrier

Help

RUN Sort:

16.706.763.706.1°.9

. 9.073.545. 164
.198.619.475. 237

- 9.073.484..97
. 657.350.787.64 ¢

. 8.970.279.085
. 645.241.743.099

0
- 8.033.517.245

2§ cgui

R

100.

3-§ carrier_setup

t=100 k=
event number ......

output reject .
output validate .

gate reject .
gate validate .

threshold equal ......

gate reject .
gate validate .

threshold equal

4% midas_digitizers

(5*$TriggerProc)

4.091.461.241

- 1.265.537
.969.013.548

... 1.265.537
8.969.013.548

8.033.517.245

6$ carrier_h

n

wwwwwwmw%w
o |a|@ G| |a @ | @

wuwan

wuwnn

wumuuuunuan

n

wuwn

wuuwunuan

s
s

femul-cdat-bdat-NoPSA- Histo-1.5KHz

E.Clément

Global Status & Control

L] going (|

] I I oo [

Crystals Status & Control | Options | Long Traces | Expel

Go B stop |~ Drain

control | View

Load Confl 2 setUp | (™ Reset |

Per Crystal Status & Control

@

z

Fy

@

=

z

=

00A @ going
008 @ going
ooc @ going
0l1A @ GOING
018 @ GOING
oic @ GOING
02A @ going
028 @ going
02c @ going
03A @ going
038 @ going
03c @ going
04A @ going
048 @ going
oac @ going
05A @ going
0S8 @ GOING
0sC @ GOING
098 @ going
osc @ GOING
100 @ going
108 @ going
10c @ going
1A @ GOING |
118 @ GOING [
11c @ GOING [
12A @ going
128 @ going
12c @ going
13A @ going
138 @ going
13¢ @ going
140 @ going
148 @ GOING
14c @ GOING

CNRS/IN2P3



File Edit

CHANNEL UP

Aurora:

input trigger ..
input idle .

sort trigger ..
sort idle ..

sumbus trigger ..
sumbus idle
sumbus under min
transition ..

threshold not reached ..
threshold reached .

sumbus trigger ..
sumbus idle
sumbus under min
transition .

threshold not reached ..
threshold reached ..

resync: sub 21

resync:

coococococooOO0O0O0O OO
]
=3
=

'Erlesync:

Terminal

SO N O =

Help

Input: RUN

1
1)
1)
1
1
1)
3)
1
1
1
1
1)
2)
1
1
1

4)
4)
4)
4)
4)
4)
4)
4)
4)
4)
5)
0)
5)
5)
4)
0)
4)

Sort:
-770.248.096

-078.426.430
-570.630.243

-078.364.968
-206.671.884

-975.124.007
-091.057.654
............ 0
-037.232.392

2% cgui
254789
271648
14234

9109
43957
77699
670892
50293
43171
48622
12728
69362
1076428 s
62725 s
38719 s
37126 s

n

L N S N R R Y )

2612
58
954
1472
116
474
EXE]
686
928
JLEE]
6628
15039
5715
623
24
6122
5229

L7 I 7 7 S S R R I R Y 7 N N )

RV

o
iy
o
s
=

o = & 3 N
o = o A =
I} - -] - -
= X EX EX EX

-~
o
o
=

resync:
resync:

resync:

t=100 k=0.9

event number ............. 4.095.176.388

1.266.287
- 8.973.857.720

output reject .
output validate .

1.266.287
. 8.973.857.720

gate reject
gate validate

threshold equal 8.037.232.392

gate reject 0
gate validate []
threshold equal ......................... []

0 sub 5 (brd 0 adc 3) 612 s
0 sub 5 (brd 0 adc 3) 79 s
0 sub S5 (brd 0 adc 3) PEVERS]
0 sub S5 (brd 0 adc 3) 426 s
0 sub S5 (brd 0 adc 3) 520 s
0 sub 5 (brd 0 adc 3) 1422 s
0 sub 5 (brd 0 adc 3) 2004 s
0 sub S5 (brd 0 adc 3) 131 s
0 sub S5 (brd 0 adc 3) 1886 s
0 sub S5 (brd 0 adc 3) 10 s
0 sub 5 (brd 0 adc 3) 89 s
0 sub S5 (brd 0 adc 3) 269 s
0 sub S5 (brd 0 adc 3) 7645 s
0 sub S5 (brd 0 adc 3) 4198 s
0 sub S5 (brd 0 adc 3) 653 s
0 sub 5 (brd 0 adc 3) 5321 s
0 sub S5 (brd 0 adc 3) 7400 s
0 sub S5 (brd 0 adc 3) 260 s

h: help

3.14 K

-
o
°
=

-
o
°
=

resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:

Global Status & Control
® going /T 7

Crystals Status & Control | Options ]

ong Traces | Exp

Per Crystal Status & Control

00: @ [ ]
008 @

ooc @

going
going
going

GOING

018 @

02c @ going
03A @ going

03 @ going
03c @ going

0sA @
058 @

going
GOING

098 @

lOB o going I - «
I -
B
I : -
128 @ going

12c @ going

going

femul-cdat-NoPSA- Histo-1.5KH

138 @ going

148 @

GOING




File Edit arch Terminal Hel
Aurora: CHANNEL UP Input: RUN Sort: R'Z

clock ........ 16.738.910.296.172 100.00

input trigger ... 9.081.266.193  18.50

input idle ... - 1.201.469.281.£32 8.81

sort trigger ... --... 9.081.204.710 18.50

sort idle ... . 658.601.142.486 3.86

sumbus trigger ... --... 8.977.942.106 18.27

sumbus idle . 646.481.606.012 3.82

sumbus under min . 0 0.00

transition ... 14.00

threshold not reached ... 0.00

threshold reached ... 18.27

sumbus trigger ... 0 0.00

sumbus idle . 661.601.069.836 3.85

sumbus under min . -0 0.00

transition ... -0 0.00

threshold not reached ... -0 0.00

threshold reached . -0 0.00

1 0§ topo 1% car

resync: dom 0 sub 20 (brd 1 adc 1) 254789 s
resync: dom 0 sub 21 (brd 1 adc 1) 271648 s
resync: dom 0 sub 21 (brd 1 adc 1) 14234 s
resync: dom 0 sub 21 (brd 1 adc 1) 9109 s
resync: dom 0 sub 21 (brd 1 adc 1) 43957 s
resync: dom 0 sub 21 (brd 1 adc 1) 77699 s
resync: dom 0 sub 4 (brd 0 adc 3) 670892 s
resync: dom 0 sub 21 (brd 1 adc 1) 50293 s
resync: dom 0 sub 21 (brd 1 adc 1) 43171 s
resync: dom 0 sub 21 (brd 1 adc 1) 48622 s
resync: dom 0 sub 21 (brd 1 adc 1) 12728 s
resync: dom 0 sub 21 (brd 1 adc 1) 69362 s
resync: dom 0 sub 31 (brd 2 adc 2) 1076428
resync: dom 0 sub 21 (brd 1 adc 1) 62725 s
resync: dom 0 sub 21 (brd 1 adc 1) 38719 s
resync: dom 0 sub 21 (brd 1 adc 1) 37126 s
resync: dom 0 sub 14 (brd 1 adc 4) 2612 s
resync: dom 0 sub 14 (brd 1 adc 4) 58 s
resync: dom 0 sub 14 (brd 1 adc 4) 954 s
resync: dom 0 sub 14 (brd 1 adc 4) 1472 s
resync: dom 0 sub 14 (brd 1 adc 4) 116 s
resync: dom 0 sub 14 (brd 1 adc 4) 474 s
resync: dom 0 sub 14 (brd 1 adc 4) 373 s
resync: dom 0 sub 14 (brd 1 adc 4) 686 s
resync: dom 0 sub 14 (brd 1 adc 4) 928 s
resync: dom 0 sub 14 (brd 1 adc 4) 1033 s
resync: dom 0 sub 25 (brd 2 adc 5) 6628 s
resync: dom 0 sub 11 (brd 0 adc 0) 15039 s
resync: dom 0 sub 25 (brd 2 adc 5) 5715 s
resync: dom 0 sub 25 (brd 2 adc 5) 623 s
resync: dom 0 sub 14 (brd 1 adc 4) 7241 s
resync: dom 0 sub 11 (brd 0 adc 0) 6122 s
resync: dom 0 sub 14 (brd 1 adc 4) 5229 s

EX EX EX

=
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resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
resync:
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resync: N

resync: 028 @ going

resync:

resync:

resync: 03A @ going
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resync: 038 @ going
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resync:

resync:

resync:

resync:

resync:

resync: o8 @ going --1 3k
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Global Status & Control

Sort. RUN t=100 k=0.

I S 0o [

........ .751.806.383./77 100. event number ............. 4.099.953.918

.267.240 5
.088.239 21.97 K Load Conf| ¢ SetUp [ (™ Reset

.084.704.148 22.
-612.619.159 8.87

input trigger ...
input idle ...

output reject
output validate ..

=x

.084.643.
103.017.

368
283 -G

sort trigger ...
sort idle ...

.981.355.479

sumbus trigger ... cem
646.978.827.462

sumbus idle . 3.85
sumbus under min . 0.00 gate reject . .267.240 4.72
transition ... 16.93 K gate validate . .088.239 21.97 K

threshold not reached ...
threshold reached ...

0.
21.97 K threshold equal ............. 8.042.009.922 16.93 K

susbus trigger ... 0.
sumbus idle . .103.866.615  3.89 M [ ]
susbus under min . .0 0.00 gate reject . 0.00
transition ... .0 0.00 gate validate . 0.00 [ [ 1

| B2

.00 threshold equal . .0 0.00 N «

threshold not reached ...
threshold reached ...

N <
tup 45 nidas digitize ) 6 EX T

resync: 0 1) 254789 resync: _—
resync: 0 1) 271648 s resync: 06 @ going I : ¢
resync: 0 14234 s resync: [o2c @  gong [ [ PER
resync: 0 9109 s resync: L] 9019 --
resync: 0 43957 s resync: 032 @ going --1.2k
resync: 0 77699 s resync:

resync: 0 670892 s resync:

resync: 0 50293 s resync: "

resync: dom 0 sub 21 3171 s resync: | 0c @  gong | I
resync: dom 0 sub 21 48622 s resync:

resync: dom 0 sub 21 12728 s resync:

resync: dom 0 sub 21 69362 s resync: 048 @ going [ T [ER
resync: dom 0 sub 31 1076428 s resync:
resync: dom 0 sub 21 62725 s resync: osc @ going [ [ HER
resync: dom 0 sub 21 38719 s resync: 1.2k
resync: dom 0 sub 21 37126 s resync: . going --

resync: 058 @  GOING [ T B

resync: dom 0 sub 5 (brd 0 adc 3) 612 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 2612 s resync: dom 0 sub 5 (brd 0 adc 3) 79 s resync: [ 1 I
resync: dom 0 sub 14 (brd 1 adc 4) 58 s resync: dom 0 sub 5 (brd 0 adc 3) PEYENS resync:
res;mc: dom 0 sub 14 (brd 1 adc 4) 954 s resznc: dom 0 sub 5 (brd 0 adc 3) 426 s resf/nc: 2 Q going _--I'Bk
resync: dom 0 sub 14 (brd 1 adc 4) 1472 s resync: dom 0 sub 5 (brd 0 adc 3) 520 s resync: m m!’_--lak
resync: dom 0 sub 14 (brd 1 adc 4) 116 s resync: dom 0 sub 5 (brd 0 adc 3) 1422 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 474 s resync: dom 0 sub 5 (brd 0 adc 3) 2004 s resync: 100 @ going I s <
resync: dom 0 sub 14 (brd 1 adc 4) EVER resync: dom 0 sub 5 (brd 0 adc 3) 131 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 686 s resync: dom 0 sub 5 (brd 0 adc 3) 1886 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 928 s resync: dom 0 sub 5 (brd 0 adc 3) 10 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 1033 s resync: dom 0 sub 5 (brd 0 adc 3) 89 s resync:
resync: dom 0 sub 25 (brd 2 adc 5) 6628 s resync: dom 0 sub 5 (brd 0 adc 3) 269 s resync:
resync: dom 0 sub 11 (brd 0 adc 0) 15039 s resync: dom 0 sub 5 (brd 0 adc 3) 7645 s resync:
resync: dom 0 sub 25 (brd 2 adc 5) 5715 s resync: dom 0 sub 5 (brd 0 adc 3) 4198 s resync:
resync: dom 0 sub 25 (brd 2 adc 5) 623 s resync: dom 0 sub 5 (brd 0 adc 3) 653 s resync:
resync: dom 0 sub 14 (brd 1 adc 4) 7241 s resync: dom 0 sub 5 (brd 0 adc 3) 5321 s resync: .
resync: dom 0 sub 11 (brd 0 adc 0) 6122 s resync: dom 0 sub 5 (brd 0 adc 3) 7409 s resync: 1_2|<
resync: dom 0 sub 14 (brd 1 adc 4) 5229 s resync: dom 0 sub 5 (brd 0 adc 3) 260 s resync: L go -_-

EE s R - -
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